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QUESTION 1

The switches in the exhibit use RSTP. The network administrator needs to add Link 2.
Exhibit Missing

Why should the administrator configure Links 1 and 2 as a link aggregation?

A. to share traffic more evenly over both links

B. to prevent a loop from occurring

C. to automatically apply the settings already configured for Link 1 to Link 2

D. 4th option Missing

Correct Answer: A

QUESTION 2

A network administrator suspects that interfaces in a link aggregation have been accidentally connected to multiple
switches. The administrator wants to find the hostnames of the switches on the other side of the interfaces. How can the
administrator find this information?

A. Use the show lace command to view LACP information.

B. Use the show trunks command to view link aggregation information.

C. Use the show interface command to view detailed interface status.

D. Use the show lldp info remote-device command to view LLDP information.

Correct Answer: D

QUESTION 3

Switchi show viars port 1 dstall

Stacus and Countcera = VLAN Information - for Porcs 1
VLEN ID Mame | Scatus Volce Jumbo Mode
5 VLANE | Pozt=-baaed Mo Na Untagged

Switché show vlanaport 2 detail

Scarus and Councers - VLAN Informacion - for porcs 2

VIAR ID Hame | Scatus Voice Juzxbo Mode

;| DEFAULT VLAN | Poct=-baged Mo Ha Untagged
5 VLANG | Pozt=-based Mo Na Tagged

] VLANE | Port-based Mo Ha Tagged
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This ArubaOS switch receives traffic without a VLAN tag on a switch port 1. The traffic is destined to a MAC address
learned on port 2. What does the switch do with the traffic?

A. It forwards the traffic on port 2 without a VLAN tag.
B. It floods the traffic on port 2 on all VLANS.

C. It drops the traffic.

D. It forwards the traffic on port 2 with a VLAN tag of 5.

Correct Answer: C

QUESTION 4

Refer to the exhibit.

Switch-2

Link 1| , Link 2

New link to be added

Switch-1

The switches in the exhibit use RSTP The network administrator needs to add Link 2. Why should the administrator
configure Links 1 and 2 as a link aggregation?

A. to combine traffic statistics for the interfaces

B. to prevent a loop from occurring

C. to share traffic more evenly over both links

D. to automatically apply the settings already configured for Link 1 to Link 2

Correct Answer: C

QUESTION 5

A network has ArubaOS switches and an Aruba Instant cluster with IP addresses on 10.1.255.0/24 The network
administrator wants to manage the devices in Aruba AirWave. The administrator uses the SNMP credentials configured
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on the switches to create a scan set for 10.1.255.0/24. The scan discovers the switches but not the Instant cluster.
What should the administrator do to discover the cluster in Airwave?

A. Re-configure the scan set to use the Aruba Instant default SNMPv3 user admin

B. Configure SNMP credentials in the Instant Ul.

C. Specify the AirWave IP address in the Instant Ul System > Admin settings.

D. Install the Instant cluster self-signed certificate on Airwave.

Correct Answer: B
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